92T Yo &6l & fie

wel — 10 9
fvg — T
I — 3 ©C qulids — 100

o | | TGS | FHAR A T DI WA

;. R m il 04 | 05 | 06 | A
T | o1 o | o | ow | o | W

1 | T R IRAT o7 IR FHpIT 10 2 2 - - 2
2 | IguT @ 9RAg 5w 07 2 - 1 - 1
3 | o oF wEEE 05 1 1 - - 1
4 | Tt wfwor 10 1 1 1 - 2
5 | afoias Tl 08 3 - 1 - 1
6 | "TwY Bt 08 2 - - 1 1
7 |99 10 4 - - 1 1
& | Ty 05 - - 1 - 1
9 | Profafy 10 5 —~ 1 - 1
10 | HaE @ R 05 1 1 - | - 1
11 | e=fafy 10 2 2 - - 2
12 | wifE®:, s, SRe®], JaRERa 12 2 1 - 1 2
Td I ot/25| 08 | 05 | 03 | 16
J[A AT 25 32 25 18 | 100
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SS9 J97 UH 2012—13

fawa — 7foe
FEr — 10
(MATHEMATICS)
Hindi and English Versions
Time: 3 hours Maximum marks: 100
ey —
@) = v arfFart 21

(ii) yer—o= # @ 7 e AEeiyds uga] Tl & SR fafag |
(iii) o= # T Grs A W § — Woe 9 3R Wrs 9’|
(iv) @vs ‘oF § e . 1 H aRIS ISR & I T T T |

AR & BIfoTg |
(v) @vs ‘q' H ued PG 2 | 17 I6 IM=<RP vy I T &

(vi) STEf *Tava® B, e NEIfus 9915y |
(vii) s we B ford amdfed s TS WG st |
Instructions: -
(i) All questions are compulsory.
(i) Read the instructions of question paper carefully and write
their answers.
(iii) There are two sections — Section ‘A’ and ‘B’ in the
question paper.
(iv)Question No.1 is objective type questions in Section ‘A’. Do as
directed.
(v) Internal options are given in Que. Nos.2 to 17 in section
B
(vi) Draw neat and clean diagrams wherever required.

(vii) Marks allotted to each question are mentioned against

the question.



WUE — (31) Section — (A)
ax1fis gy (Objective Type Questions)
1(A) W& fdbed grex U Sk gRasT # fofay (1x5 = 5)
Choose the correct option and write in your Answer Book.
(i) <1 gud Red gl aux + by + o =0 @ a,x+ b,y +c, =0
P 3 3D Bl @ forg wfer & —

@ S-2.8 (b) L=b-a
a, b, ¢ a, b, ¢

© srp @ o=
a, b, a, b

The system of two linear equations a x+b y+c,=0 and a x+b,y+c,=0
have the infinite solution, if

a b a 4 b _a
@ o757, (b)

a _ b a _b
© W @ &
(i) gD FADBOT x+2y=5 H AR x=-1 B A y & A9 &
(a) 3 (b) -3 (c) 2 (d) -2
In a linear equation x+2y=>5 if x=-1, then the value of y is:
(a) 3 (b) -3 (c) 2 (d) -2
xz—
(iil) —— T EH WU T, |
(a) x-3 (b) x+3  (¢) x+9 (d) x-9
Simplest form of f__: 1S :-
(a) x-3 (b) x+3  (c) x+9 (d) x-9
(iv) 7,9,21 T IgAuRil SFT—
(a7 (b) 9 (c) 21 (d) 27
The fourth proportional to 7,9,21
(a7 (b) 9 (c) 21 (d) 27



(v) o AR ax?+bx+c=0 @ HeAl HT ATHA & |

a —b < C
(@), (b)™~ (c), (d) 3

Sum of roots of quadratic equation ax?+bx+c=0 is :-

a -b [~ (4
(@) b~ (o (d)
(b)y R wIF & gl PIforg— (1x5=5)
(i) aR¥ =i ’f:::j P I BT v 2
(ii) TEhgfg AT BT A ATRIRT ST 9 ..oeeeess BIAT T |
(iii)wweior e W of Je 9 ...l YT Bl B
(iv) fe o<1 @ Fe9 <1 off T e, FHEARI ¢ |

(v) T 2,4,5,8,10 3I ARFS............ 2|
Fill in the blanks -

x3-7x243

()The degree of numerator of rational expression PP

(ii)Compound interest is ........... the simple intrest.
(iii)In a right angle triangle the hypotenuse is the ........
side.

(iv)The longest cord of the circle is called .........

(v)The median of the nariate 2,4,5,8,10 is .........

(c) ) & T & ford v ‘g # 0 W SIS I8y — (1x5=5)
wH (31) wq ()
(i) sin{90°— &) (1) sec? &
(ii) 1+tan20 (2) cos®
(iii)cos 45° (3)1

(iv)sin 60° + cos 605 (4)%

Y3+l
2 2

(v)Sin26+Cos20 (5)
(6) cot &

(7).cosec &
3



Make correct pair for Column A choosing from Column B:

Column ‘A’ Column ‘B’
(i) sin(90° — 6) (1) sec? @
ii) 1+tan?0 (2) cosb
(iii)cos 45°¢ (3) 1
(iv)sin 60° + cos 60° @)%
(v)Sin26+Cos?0 (512
(6) cot &
(7)cosec @
(D). Fr=ifeiRad H | / 3 Bica forRay— (1x5=5)

(i) fp=lr Te & wilRisar 1 & @Iffie 81 |l B
(ii) fPedT BT TP D TRRI DO BT AT 180° BRI & |
(iii) T a5y g & ga W A 13 TRT Rl @ Aftdma |

4 Il © |
(iv) SEgd TR I HIVT THADIOT BT 2 |

gv).qasﬂﬁ?mf & BT 154/3 AR 2 A 99IR & /g 15 #ieR
| A @ &1 S dior 30° BRI

Write true or false :-

(i)The probability of an event may be greater than 1.

(i))The sum of opposite angles of a cyclic quadrilateral
is 180e.
(iif)Maximum number tangents that can be drawn from
an external point are 4.
(ivJAn angle in a semi circle is right angle.
(v)The shadow of a tower is 15v3 m. If the height of
the tower is 15m. ,then the sun is angle of elevation is
30°.



E.f=fafad g & SaRk U ard § S ¢ (1x5=5)
(i) =srgfs =19 U4 Herd @ INT BT 94T FHEd 2 |

(ii)eramT @1 &) gFAD Bl § AT RUNHD Bl o |

(iii) afe v PBryeT & AT PIoT AR BS & T I BT B RMER
8 A1 9 ryeT 7 SEe B

(iv) o€ el & MA@ g3 fafag |

(V) 99 @ 9y &1 g ey |

Answer the following question in one word or in one sentences
(ijWhat we say the sum of compound interest and
principal.?

(ii)The rate of depreciation is either positive or negative ?
(ii1)If all the three angles of a triangle are equal to their
correspond angles of other triangle ,then triangles are called
what ?

(iv)Write the volume of semi-sphere?

(v)Write the curved surface of cylinder ?
@US (d) Section (B)

T TSR g

(Very short answer type Questions)
2. TR @ o1 fade I g1 g9 difoig— (4 37ep)
xX+2y=-1

2x-3y=12
Solve the following system of equations by elimination method.

x+2y=-1
2x-3y=12



gerar (or)

AR fpra ol A T B W™ W §A BHIG—
2x+7y =11
-3x+5y = -1
Solve the system of equation by paravartya method by
vedic mathematics.
2x+7y=11

-3x+5y= -1
3.f9g IVt & ¢ &1 va w1 99 & e v e

cx+2y=c-2
8x+cy= ¢
& I 3D B BT & | $9 A BT FKT PO | (4 i)
Prove that there is a value of ¢ for which the system
cx+2y=c-2
8x+cy= ¢
has infinitely many solution.Find this value
aremar (or)
&1 A3 BT YRT7 B | IS 3T ANT 999 iR T Al O BN.al A
S BT | |
The sum of two number is 7.If the sum of these number is 7

times of its deference.find the numbers.
4.7 FEIRN BT I 11:16 R 3 71 WIS b a8 U 3:4 BT (4 3i)
The ratio of two number is 11:16.What should be added to

this ,so that the ratio become 3:4
6



arerar (or)
M (x — 4)3R (x — 5) BT FATUR x B,a7 x BT A4 ST DI |
If x is the mean propotional to (x — 4)and (x — 5) ,then find the
value of x

5. 7fd gk gatt FAHART ax?+bx+c=0 & 4 & §+§Eﬁrm?r§ﬂﬂ
I | (4 31)

If ¢ and g are roots of quadratic equation ax*+bx+c=0 ,then

a B
find value of E"‘__
a

grerar (or)
T FHIHROT 232 — 13x+ 15 = 0 & G A gR1 81 BIfTg |

Solve the quadratic equation 2x? — 13x + 15 = 0 by formula

method.
6. 609X T UBTT WRT P AT W TP el &I aTa- Hor 6008
YHTe W™ D UTE A STBIS bl 4 Siid Iy | (4 31)

From the top of 60 m high light house ,the angle of
depression of the ship is 60°.Find the distance between the
ship and the foot of the Light house.

3rerar(or)
I fel T8 U AR 3 Sa18 T IS BRI & G4y FHH 8 Al $9
I G BT 19 DI T BIT?
Find the angle of elevation of the sun when the length of the

shadow of a tower is equal to its height.



TP T Dl DR 6 I & 79 B Tl I A% U9 UId IS §a
DI | (4 37)
The edge of a cube is 6¢cm. Find surface area and lateral
surface area of the cube.
Ferar(or)
S T N AR 9 B TWIS ST BHITT ST Th R (109x109x 5 )
d X S b |
What will be the length of longest bamboo which can be put in

the room of dimension(10m.x 10m X 5m)

T T B del H Ol A8 TP U 9T € 99 BT A 209 §
SHE PR B TP o1 BT ghel IET I arr /7 & [ fbder Sar
ST ? (4 3iep)

A glass in the form of the cylinder is filled with water at the

height of 9cm. Diameter of the cylinder is 20cm.A cubic
metal piece of side 8cm. is completely submerged by how
much will the level of water rise ?

sterar(or)

U B 291 SR U &1 Ha1g arel 96 Ud W B NIl Bl U S
I |

Find the ratio between the volumes of the cylinder and

cone,which have same radius and height.

0.U% UNT &7 S8BT WR AW9 8id e @) Wifdshat o1 HINT ] (4 37h)
In a single throw of a die,Find the probability of getting an

odd number.



3rerar(or)
v R @& IoTem W R 3R ug e 9wy o @) wiiear s @ifie?
In a single throw of coin, find the probability of getting a head

and a tail at a time.

10. F%H UHETS FT B
a?(b+c)+ b*(c+a) + c2(a+ b) + 2abc
Find the cyclic factors :-

(6 %)

a?(b+c)+b*(c+a) + c?(a+b) + 2abc

3rerar(or)
IGUG 2x%2 +3x+ 1 BT x + 23 997 ARG

Divide 2x? + 3x + 1 by x + 2.
11, < wipd g d SR et sidr 1 8 ok R avit &1 Gt 265 2|

(5 3i)
Find two natural number which differ by 1 and whose squares
have the sum 265.
HAIGRT /332 — 2. +1. = 2x BT o GioRor & ARG o 7T BT

rerar (or)
Solve the equation

v3x2—-2.+1 =2x

after reducing to quadratic equation.

12.20005W0 &7 4 AMfies <1 1 &R | 2 9§ T FHgfG AT A DT (5 30p)

Find the compound interest on Rs. 2000 at the rate of interest

4% per annum for 2 years.
gerar (or)
UH S 960 . TG AT 480%. AP YA IR 245 T & QT AMYG bt
R QT A BT Ao A e B ) ST HR?
A watch is sold for Rs.960 cash or for Rs.480 cashdown
payment and two monthly instalment of Rs.245 each .find

the rate of interest charged under the instalment plan.

9



14.

.13.wm§%wwmqamlﬁgﬁﬁwgwsﬂﬁ%|qaﬁ

Sy & A gy | (5 3f)

Construct the incircle of the equilateral triangle whose on side
is 8 cm.Measure€ its radius.

gerar (or)
o T TGS P AT Sifere forert od @ £B=70% AC=5%.
AB=2 . 3R AD=331. |

Construct a cyclic quadrilateral in which vertical angle
B=70°, AC=5cm., AB=2cm. and AD=3cm.

= S Piorg? (5 3i)
cot40° E(cos 35°)
tan 50° 2 \sin 55°,
Find the value of :-
cot40° 1 (cos 3 5°‘)

an50° 2 \sin55°
arerar(or)

Ryg I -

sin 6 siné 2

b — ———

(1 + cos@) (1—cos g) sin

Prove that:-
siné sin 8 2
(1 + cos6) (1—cos®) siné
15 aﬁﬁﬂﬁABCﬁAD,BCq’\'aﬂ%‘?ﬁﬁi@W (6 %)

AB? + €D?= BD*+ AC?
In triangle ABC LAD is perpendicular on BC then prove that

AB*+ CD*= BDZ + AC?

10

AR S



Jrerar(or)
20 o TR U Al U wae 3 Rasat ad ugadl 2, S 4 & 15 Hod
FHtd W 2, 9T @ 9D B e R @ 98 ST B |
A ladder 20 m. long reackes a window of a building 15 m. above
the ground ,find the distance of the foot of the ladder from

the building.

16. fig PINY f TP aqds & T9E PO B T B GFTh 180° BT
gl (6 3i®)

Prove that the sum of pair of opposite angles of a cyclic
quadrilateral is 180°,

3rerdn(or)
g DT fbdl g0 & arsa g 9 <) 18 <1 el Y@t g 8l 2
Prove that ,the length of two tangents drawn from an external

point to a circle are equal.

16. A9 f&d T STl § 2005 B MR UR 2009 HT fale @ Gadic e

DI | (6 3i)

T T T WO U T

( o 4 ) 2005 2009

A 40 6.00 8.00

B 10 12.00 15.00

C 20 8.00 12.00

D 1 80.00 90.00

E 30 8.0 10.00

11



Calculation the cost of living index number for the year 2009 on

-the basis of year 2005 from the following data.

Item Quantity in Price {in Rs)per kg
kg Year2005 Year2009
A 40 6.00 8.00
B 10 12.00 15.00
C 20 8.00 12.00
D 1 80.00 90.00
E 30 8.0 10.00
3rerdr(or)

frnifba aifiepa anwer & vl wem @ ey & oder @ uraier & FERR
A DY T dgaR A & @ fBRw |

TS 0-10 10-20 20-30 30-40 40-50
faenieray i 12 18 27 20 17

Compute the mean of the marks obtained in the examination by

the students of any class by short cut method.
Marks obtained 0-10 10-20 20-30 30-40 40-50

No of students 12 18 27 20 17

12



T-1( A) 98! fdpey
BT‘I'\’:—]_(A)
1. (b)-f:—1 _bh _&

b ¢
2.(a)3
3.(b)x +3
4.(d)27
5.(b) _Z
Sw-1(B ) Rew <om-
(1)3
(2) ¥
()t
(4 )yars

(5)5
SwR-1(C )ue wifi-

w (37)
(i) sin(90° — 8)
(ii) 1+tan?0

(iii)cos 45°¢

(iV)SiH 60° 4+ cog 6(0°

(V) Sln29 + Co 826

el wTR
e~ 1097

137p
137
131
137

131®

137
131
1376
137h

131

13i%

131

131

131

131



SR~1(D ) ¥ca /399
(i) s
(i) "
(iii) srg
(iv) =
(v) &1
SR—1(E Yo arag #-
(i) fAsem
(i) oD
(iii) FeT Bryst
(v,
(v) 2mtrh
¥ (2)

FHIBRUI(i) & 2 1 qoT TF weRvr(ii) H 1 @1 o e

2x +4y=-2
+2x—3y = 12
- + -
Ty =—14
—14
:})’:—?-—
y=-2
y = —2 &1 99 FHe(i) § W@ W
X+2(-2)=—1

14

137p
137h
13ih
137

13idp

137
1316
137
13i®

131

137

13



x—4=-1

x=-1+4
x=3 13
3TT: FHIPRUT Bl & x = 3, y = —2 2|
rerar(or)
fear g,
Tx+11ly=1
8x+13y=3

N x_(iixz)—(lxiz)
WA g 39—

T (11x8)—(13x7 3

_ 33-13 1 .
~ 88-91 S®
_20 -
=3 13
AR v = (1x8)-(3x7)
8-21 .
Y= 13ich
-1i3
}!:_—3
13 :
Y=< 131dh
20 13
3 o T wlieRT B g X = —— Y =7
U3 3.
QAT T AHBRT ¢ X429 = ¢ — 2.......(J)
8xt+cy= c....... (11)
a, =c, by=2, g =(c-2) 1 3%
a, =8, b, = ¢, C;=¢C
TR 3 3D 81 @ 99 Q
1 3b
a_ bk _ o
a; b €z

15



c=+14 1 3idH

__¢(c—2)
2
2=c—2
c=2+72
c=4 131

&H;@ﬁ’@gac:l}%l

Jrerar(or)
Tol—
AT 5 Ugell A&A1= x
=AT {\Hﬂ T = y
WRATPHR

X4y =7 .. (i) 137
=T

x+y=T7x—-y)

x+y=7x—7y

Tx—=7y —x—y=0

6x—8y =0

3x—4y =0————(ii) 1 3fh

16



wBRuI(i) # 41 o B whiexu(ii) ¥ oe W
4% + 4y = 28... ... ... (iii)
3x—4y = 0. (il)
7x =28

28
X -
7

x =4 1 3D
x = 4P 7 FHH0T § W@ W)

4+y=7

y=7—-4

y=3 1 3

U 4
UTER,
=1 & & vd afer A 7F 5 x SeY W 9% 3o 3: 4 8 S 1 sl
3T
1i+x 3 _
16+x 4 19
4(11+x)=3(16+%
44 + 4x = 48+ 3x 1 3@
4x —3x=48—44 1 3®

x=4

3rerdi(or)

%=+ 1 3
x*=(x-4)(x-5)

x* =x?—5x—4x+ 20 1 3
x? =x%-9x+ 20

x2 —x24+9x =20 1 3P

17



x =2 |
9 1 3B
20 2
eﬂﬁ:x?ﬁrmﬂ;ng 2
g7 5
...b c
g-—a+ f=— af=- .
a a
o4 3_a2+,82 |
B+“— ap 1siw
_(a+p)* —2ap
— "
_1,2 c
_(T) —27
- 3
24
bz_z_c
_ a* a |
-z 13
a
b* — 2ac
_ a?
T c
a
bg—Zac) a
—_ X""
az C
a .B EJn—Zcxc
Fla” 1 31
ﬁ a ac
3rrar(or)
f&ar T g

2x2—13x+15=0
T TR & G ax? + bx + ¢ = 0 ol BRA R
a=2b=-13,c=15
~b+Vb2~4ac

WX = - ¥ A T W | i
oy = —C1DH(E13)2-4(2)(15)
2x2

18



13+v/169-120
X =

4

13 £+/49
4

= X =

(+) Breg o W !

() R w®

U3 6.
ot %

i

60°

d

T x Hiew B
AP Yeprel W™ @ @ISt U9 Ul & 95 AU B | d1 T 98 I ® oigf

STeToT Rerd 2 |
qHfe TE = x Hex

TR AB = 60 iR
19

1 s

1 3%

1 ofw

60 }ile':\'



o gD AATEB #

AB—ta 60°
pr - 2"
60 3 .
60 _ V3 1 3
x 1
= xv/3 = 60
60
=2X=—
V3
i} 60Xv'§
=2X=-F7=X—F
V3 /3
60x%1.732
xS 1 3w
=>x=20Xx1732
= x = 34.640 Aicx "o
3Agdi(or)
Bdl
AFIPd AFR B $91E AB = h¥IR B
A .
1 3%
h
0
C X B
WATTAR A =X re e ceeceevee e (1)
AT < BT ST BT LACB = 6 2|
HPIT AABC H
| _AB_ R '
tanH—AC - 1%
tan 6 = - h=
an = =X
tang =1 1o

20



tan @ = tan 45°
g = 45°
3id: qh BT ST DI 45 BRT|
g 7— B
o BT Gl T SF%d= 6a?
=6X62
=6 X 36
= 21€ 97 W0
9 BT UIed YB= 4q2
=4 X 6%
=4X36
= 144 37 ¥+
3qdi(or)
To—

PR H Y TN QoW 919 THETS P B

fawol B TS = /aZ + b2 + ¢2
& & B

a= 10 Hlcx
b =10 #Hiex
c=5 Hex

faemot @ €= /102 + 102 + 52
= /100 + 100 + 25
=225 = 15 %=

IR 8— Bl
fear &—

1 3&

1 3f®

1 3(®

1 3F

1 36

1 37®H

1 3h

1 3®

1 3P

(i) IIPR I BT A= 20 TN
gr;x T =10 991
(ii) o1g &1 cheT RoTHd PR= g T

21



1 31

ST BRAT 88T o)A W g fhaer $ar S = h I () 1 ofw
31t SeFIPR U & g U Bl MIT= T(Sd T BT AT

wr’h = a3
314X (10%) X h = 82 s

314h=8X 8X 8§
j — Bx8x8
314
__ 512

314
h=1.63 ¥ 1 3fe
stai(or)

ICER R CT

22



(i) S 3R ¥ o e F9H § A Brogi= 7
(ii)de 3R ¥q A HaAE A § M1 Sag= A

3.

SO BT ATy, = 7r2h
Qiagaﬂaﬂ'qa:{vzzimzh 1 3@

(&1

W@?’@%Waﬂa—ﬂﬁ:vz

ﬁ = m2h r
1;2 %n‘rzh 1 3P
vy _ 3 :
¥y - 1 1%
i _ 3
Vg _1
U3 9.
S=1{1,2345,6} 1 37
nis) =6
fauq i T & I
A=1{123] 137%
n(4) =3
' v __ n{A)
¥ epfre wRrmar P(E) = 13
_3_1 :
=-=3 1 3f®H
3ai(or)
gA:5 ={H T} 130®
3t n(S) =2
e U9 g Ud W1 M &I "eAT A B [d9
A={}
art n(A) =0 130
n{A)

sfa: anfre wRar  P(E) = 5 1 35w

23



O:
p(E) =3

p(E)=0 Answer 1 3%

e 10 TBIY UAEUS
al(b+c)+b%(c+a)+c?(a+b)+ 2abc
=a’b+a’c+b?c+ b*a+c?a+ c*b+ 2abc 1 3@
= a’b+ a’c + ab? + ac? + 2abc + b?c + bc?
=a*(b+ )+ a(b? +c?+2bc) + be(b + c)
w [(b+¢)? = b? + ¢ + 2bc] 18im
=a?(b+c)y+ab+c)(b+c)+be(b+c)

=(b+ c)[a® + a(b +¢c) + bc] 1 3@
= (b+ ¢)[a® + ab + ac + bc]
= (b + c)[a(a + b) + c(a + b)] 1 3@
=(b+c)a+b)(a+c)
={a+b)(b+c)(c+a) 1 3@
3Idi(or)
FeT— o
2x —1 2 3
x+2 2x% 4+ 3x + 1
2x?% + 4x
G -
—x+ 1 13®
. —=x =2 1 3@
() (#)
+3 79 1 3%
g 1.
T U U G x B 137
T S AT Bl x + 1
WRATIAR

x4+ (x+1)? =265
24+ x> +2x+1=265
2x2+2x=265—-1

2x% +2x =264 1 P
QP79 ©F T
x%+x=132
x2+x—132=0 1 @

x2+12x—11x—132=0
24



x(x+12)—-11(x+12)=0
x+12)(x-11)=0
I x+12=0
x =—12 Uiy g1
e x—11=0
x =11
3icT: A& Ugell W x=11
qAT N F&AT Bl x + 1=11+1=12
3 H&g 11 9 12 BN |
3di(or)

ffarre V3x2—2+1 =2x
SIFT Y&l BT g3 e U
| (V3x2—2)2 = (2x - 1)?

3x2—2=4x2—4x+1
3x2 -2 —-4x¥+4x—-1=0

—x*+4x—-3=0

x?—4x+3=0
x2—-3x—x+3=0
x(x—-3)—1(x—3)=10

x-3)x—-1)=0
IS x —3=0
x=3
IS x—-1=0
x=1

Y3112

feare — e P=120005. ¥ n=2d9xxr = 4%

Thglg @rel C.I= ?

@ =P o]

= A= 2000(1 +$)2
25

1 3iFk

1 3P

1 3fd

1 3fd

1 3P

1 3P

1 f®

1 390D



- A = 2000 (104)2
B 100 ,
26
= A= 2000 (E)

- A=2000x2x22
25 25

80X 26 X 26
2 A=
25
16 X26X 26
= A= c

= A=216320%T
fseF= 2163.20 91

: Tshgfg IC. ] = fsrE — o
| = 2163.20 — 2000
= 163.20 57
Thglg 163.20 TS WY

aerdi(or)
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